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Who is the father of the functionalistic school of Psychology:
1) Ivan Pavlov  2) Sigmund Freud 3) John.B.Watson  4) William James.

A change in behaviour or belief as a result of real or imagined group pressure is called:

1)  Competition 2) Conformity. 3) Conflict 4)  Prejudice.

Maternal smoking during the prenatal period may be an important contributor to:

1)  Down 2) Hyperkinetic 3) Turners 4)  Withdrawal
syndrome syndrome syndrome syndrome

Therapy based on principles of learning is called;
1) Group therapy 2) Shock therapy 3) Behavior therapy 4) Psychoanalytic therapy

The first psychological experimental laboratory was set up the year:

1) 1859 2) 1857 3) 1875 4) 1879
Electromyogram records the action of:
1)  Skin 2) Body 3) Muscle 4) Brain.

The Gestalt law which says that there is a tendency to organize things to make a balanced
figure is the:

1)  Law proximity 2) Lawof Pragnanz 3) Lawofclosure 4) Law of symmetry
Exclusive concern with one’s own personal welfare is called:

1)  Sympathy 2) Egoism  3) Apathy. 4) Cohesiveness.
In which type of birth, the buttocks appear first, followed by the legs and finally the head:
1)  Spontaneous 2)  Transverse birth

3)  Difficult birth 4)  Breech birth

RET was put forward by:

1)  Ellis 2) Roger

3) Maslow 4) Frankl

Who advocated the equity theory of motivation:

1)  Vroom 2) Alderfer 3) Adams 4) Lawler
Which is the group that receives no treatment in an experiment?

1)  Experimental group 2)  Participant group

3)  Operational group 4)  Control group

Operant conditioning was introduced by:

1)  Thorndike 2) Pavlov  3) Skinner 4) Kohler

Law of Imitation was studied in detailed by:

1)  Tolman 2)  Allport

3) Bandura 4) Ellis

Studying behavior over prolonged period is :

1)  Cross-sectional 2) Controlled observation

3) Expost facto 4) Longitudinal

Defence by actual flight is called:

1) Hysteria 2) Fugue 3) Amnesia 4) Projection

Which is the that proposes that some individuals are born with certain traits that allow them to
emerge as leaders out of any situation:

1)  Contiguity 2) Path-goal 3)  Situational 4)  Great-person
theory theory theory theory
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Surface layer of gray matter of cerebral hemisphere called:

1)  Cerebrum 2) Cerebral cortex 3) Cerebellum 4) Pons

The method of problem solving that will automatically generate a correct solution is called:
1)  Algorithm 2) Heuristics 3)  Means-end analysis 4) Mnemonics.
Cohesiveness is:

1)  Unity 2)  We-feeling 3) Groupdynamics 4) Group conformity
Walking in the child is primarily due to:

1)  Learning 2)  Stimulation 3)  Maturation 4) Motivation
Selective forgetting is:

1) Regression 2)  Repression 3) Suppression 4) Retrospection

A belief that a particular event will be followed by a particular consequence is called:

1) Equity 2) Expectancy 3)  Competence 4)  Cognition

REM refers to:
1) Atherapy 2) Aninstrument 3) A stage ofsleep 4) A step in problem solving

The theory of hierarchy of needs was proposed by:

1)  McClelland  2) Alderfer 3) Maslow 4) Vroom
Early adult is the age of:
1)  Transition 2) Equilibrium 3)  Settingdown 4) Dependency

Which is the type of personality disorder where the individuals continually violate rules and
show disregard for the rights of others?

1) Paranoid 2) Schizoid 3) Histrionic  4) Antisocial

Which theory of emotion has the idea that one’s experience of emotion is really the experience
of the bodily changes following the perception of the emotional stimulus?

1)  Schachter- 2) James-Lange 3) Cannon-Bard 4) Two-Way
Singer theory theory theory theory
Piaget designed the first two years of development as:
1) Pre- 2) Sensory 3)  Concrete 4)  Formal operational
operational motor operational

Persistent and disproportional fear of some specific object or situation that present little or no
actual danger to a person is called:

1) OoCD 2) GAD 3) Fear 4) Phobia
TAT was introduced by:
1)  Rorschach 2) Murray  3) Bandura 4) Rogers

Fechner termed the investigation of the relationship between physical stimuli and sensory
processes are:

1)  Somatophysics  2) Biophysics 3) Psychophysics 4) Physiophysics
When a subject is instructed to report as objectively as possible on his own conscious
experience, he is using the method:

1)  Observation 2) Introspection  3) Behaviourism 4) Experimental method
In terms of the importance of heredity or environment in determining behavior, Watson
stressed:

1)  Physiology 2) Environment 3) Heredity 4) None of these
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35. Parameter in inferential statistics refers to:

1)  Sample 2) Data 3) Population value  4)  Variable name
36. Which of the following statement is true about hypothesis
1) Itis an assumption about of population 2)  There are different types of hypothesis
value
3) Hypothesis testing is a function of 4)  All of the above

inferential statistics

37.  Sampling distribution is distributions formed by:
1)  Population values 2) Sample values  3)  Parameters 4) None of these
38.  Which of the following is standard error?
1)  Mean of sampling distribution ~ 2) Standard deviation of population distribution
3)  Mean of population distribution 4) Standard deviation of sample distribution
39. ‘Student’ was the pen name of:
1)  Ramanujan 2) Gosset  3) Garrette 4) None of these
40. Which of the following is true about’t’ distribution.
1) Symmetrical 2) Negatively skewed 3) Positively skewed  4) None of these
41. The Gestalt studies of thinking showed that:
1)  Thinking always involves insight 2)  Most animals can form concepts
3)  Incomplete situation create stress 4) Thinking does not occur in lower animals
42. According to Freud, the------- operates by means of reality principle:
1) Id 2) Ego 3) Superego 4) Pre-conscious
43. ‘Sibling rivalry’ refers to the rivalry between two siblings for:
1)  Attention and affection of the parents 2)  Attention of people in general

3)  Attention of each other 4)  None of these
44. Suppression is regarded as:
1)  Conscious and voluntary 2)  Conscious and involuntary
3)  Unconscious and involuntary 4)  Unconscious and voluntary
45. The alarm stage of Hans Selye’s general adaptation syndrome is essentially the same as:
1)  The fight-or-flight response 2)  Constructive coping
3)  Catharsis 4)  Secondary appraisal

46. The tendency to attach greater importance to a potential cause of behaviour if the behaviour
occurs despite the presence of other, inhibitory causes:

1) Discounting principle 2)  Augmenting principle
3)  Correspondence bias 4)  Causal attribution

47. Mental frameworks centering on a specific theme that help us to organize social information:
1)  Affect 2) Schemas 3) Encoding  4) Heuristics

48. The basic need motive to seek and maintain interpersonal relationship:
1) Need for 2)  Need for 3) Need for 4) Need for Power?

recognition affiliation affection

49. The microscopic space between two neurons, ever which messages pass:

1)  Synapse 2)  Receptor 3) End bundles 4)  Axon
50. Resistance to perceiving threatening or disturbing stimuli:

1)  Perceptual defense 2)  Subliminal perception
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3)  Perceptual vigilance 4)  Perceptual set
A person travels from A to B at a speed of 40km/hrs. and returns by increasing his speed by
50%. What is his average speed for both the trips?

1) 60 km/hr. 2) 52 km/hr. 3) 56 km/hr.  4) 48 km/hr.
A man buys a scooter for Rs.14000 and sells it at a loss of 15%. What is the selling price of the
scooter?

1) 12400 2) 11900 3) 10900 4) 11300

If selling price of an article is Rs.250 and profit is 25%, find the ratio of the cost price and selling
price:

1) 53 2) 4:5 3) 3:5 4) 54
What is the largest 4 digit number exactly divisible by 88?
1) 94 2) 98 3) 99 4) 90

In a Diary farm 40 cows eat 40 bags hunk in 40 days. In how many days one cow will eat one
bag of hunk.

1) 1 2) 40 3) 20 4) 26
If 40 men can make 30 boxes in 20 days. How many more men are needed to make 60 boxes in
25days?

1) 28 2) 24 3) 22 4) 26

57. By the time they reach adulthood, most people can perform many different activities

involving motor skills. Motor skills involve such diverse tasks as riding a bicycle,
threading a needle and cooking a dinner. What all these activities have in common in their
dependence on precision and timing of muscular movement.

This paragraph best support the statement that:

1)  Most adults have not refined their motor skills.

2)  All adults know how to ride a bicycle.

3)  Threading a needle is a precise motor skill.

4)  Children perform fewer fine motor activities in a day than adults do

My mother’s brother’s son’s mother is related to my maternal aunt as:
1)  Sisterinlaw  2) Cousin  3) Aunt 4) Mother in law

A Man said to a lady, “your mother’s husband’s sister is my aunt”. How is the lady related to the
man?
1)  Daughter 2) Grand daughter 3)  Mother 4) Sister

If PxQ means P is the brother of Q, P#Q means p is mother of Q and P*Q means p is daughter of
Q, then who is the father in A#BxC*D?

1) D 2) B 3) C 4) A
Complete the series: FAG ; GAF ; HAI ; I1AH;

1)  JAK 2) HAL 3) HAK 4) JAI
Complete the series, H81 ; K22 ; N50 ;

1)  Q8R 2) R6S 3) Q7R 4) R8S
GIK; EGI ; ------- : ACE ; YAC.

1) ECG 2) CEG 3) GCF 4) EGC

Starting from point ‘p’, Raju walked 30m towards south, then turned left and walked 40m. He
then turned left and walked 30m. He again turned left and walked 50m and reached a point Q.
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How far and in which direction is the point Q from P?
1) 20 meter West. 2) 10 meter East 3) 10 meter West  4) 10 meter North

65. Point ‘A’ is located 8 miles South of B and C is located 6miles west of A. What is the distance
between C and B?

1) 8 miles 2) 9miles  3) 11 miles 4) 10 miles
66. 48, 45, 40, 30, 24, --------- R :

1) 11,12 2) 12, 13 3) 9,11 4) 13,0
67. If FRIEND is coded HVMJIK how is CANDLE is written in that code?

1) EDRIRL 2) DCQHQK 3) ESIFME 4) DEQJQM
68. If Z=52 and ACT=48,Then BAT will be equal to:

1) 39 2) 41 3) 44 4) 46

69. P and Q are two positive integers such that PQ=64. Which of the following cannot be the value
of P+Q?
1) 20 2) 65 3) 16 4) 35
70. Using only 2,5,10,25 and 50 paise coins, what will be the minimum number of coins required to
pay exactly 78 paise, 69 paise and Rs.1.01 to three different people:

1) 20 2) 19 3) 16 4) 17
71.  Which of the following dance forms is associated with Gujarat?
1)  Garba 2)  Nantanki 3) Kathak 4) Bhangra
72.  The Center for Cellular and Molecular biology is situated at:
1)  Patna 2) Jaipur 3) Hyderabad 4) New Delhi
73.  The Central Rice Research Institute is located at:
1)  Rajamundry  2) Madras  3) Cuttack 4) Cochin
74. The word ‘Sathyameva Jayate’, inscribed below the bare plate of the emblem of India are taken
from:

1) Rigveda 2) Satpath Brahmana 3)  Mundak Upanishad 4) Ramayana

75.  Which one stands out?
1)  Love, Affection 2) False, True  3) Abundance, Scarcity 4)  Sharp, Blunt

76. Essence is to flowers as ----------- is to oven:
1) Vapour 2) Steam 3) Fire 4) Heat
77. The ratio of width of national flag to it length is:
1) 355 2) 2:3 3) 2:4 4) 3:4
78. 'Who is the first Indian women to win an Asian Games gold medal in 400m race ?
1) M.L. Valsamma 2) P.T. Usha 3) Kamalgitsandhu 4) K. Melleshuwari
79. India won its first Olympic hockey gold in:
1) 1928. 2) 1932 3) 1936 4) 1948
80. Mohiniyattam dance originally developed in which state:
1)  Tamil Nadu 2) Kerala  3) Orissa 4) Karnataka
81. He said to us, “come early”. Replace the underlined words with most suitable one.
1)  Hetold to us that we came early 2) He told us that you come early.
3) Hetold to usto come early 4) He told us to come early

82. The lady said to me, ““ It is nice to you to have come”

M Sc Clinical & Counselling Psychology, 2017 Page 6



83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

1)  The lady told me that it was nice of me to have come
2)  The lady told me that it was very nice that | had come
3)  The lady told me that it was nice to had come

4)  The lady told me that it was nice that | have come
Questions 83 to 100 : Complete the following sentences using the appropriate options.

It is no use ------ him:

1)  to phone 2) phone 3) phoning 4) to give
Wear helmet ----- you will have to fine:

1) if 2) but 3) because 4) or
Haritha secured the first rank, ------ she was industrious.

1)  but 2) when 3) for 4) while
He looked ----he were mad

1)  after 2) as if 3) because 4) but
Would you mind ------ a story?

1)  to write 2) writing  3) wrote 4) write

| am looking forward-----from you
1)  tohear 2) hearing  3) to hearing  4) heard

. mmmmee- you start now you will miss it
1) If 2) Though  3) Unless 4) As

If it rained, the match-------
1) willcancel 2) wouldcancel 3) wouldbecancel 4) would have been cancel

Had you come early, you------ him

1)  would meet  2) would meet 3) would have meet 4) could have met
Unless you practice you ------ a singer
1) canbe 2) canneverbe 3) could be 4) could have been
They would win if they--------
1)  tried 2) try 3) will try 4) had tried
If the manager let me go, I ----- at once
1)  will start 2) would start  3) shall start ~ 4) would have started
Nobody knows-----he is
1) whose 2) when 3) whom 4) what
The boy ----committed the crime was expelled
1)  that 2) when 3) who 4) whom
The cashier and manager is the custodian,-------- ?
1)  aren’t they 2) isn’the 3) hasn’the 4) haven’t they
Come as fast as you can,------ ?
1) canyou 2) will you 3) don’tyou 4) won’t you
The man----- son is a doctor, died without any medical aid.
1) who 2) whose 3)  whom 4) that
Barking dogs seldom bite,------- ?
1)  don’t they 2) dothey 3) doesn’tit 4) does it
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